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e Padasalai's NEWS - Group
https://t.me/joinchat/NIfCqVRBNj9hhV4wu6 NgA

e Padasalai's Channel - Group
https://t.me/padasalaichannel

e Lesson Plan - Group
https://t.me/joinchat/NIfCqVWwo5iL-21gpzrXLw

e 12th Standard - Group
https://t.me/Padasalai 12th

e 11th Standard - Group
https://t.me/Padasalai 11th

e 10th Standard - Group
https://t.me/Padasalai 10th

e 9th Standard - Group
https://t.me/Padasalai 9th

e 6th to 8th Standard - Group
https://t.me/Padasalai 6to8

e 1stto 5th Standard - Group
https://t.me/Padasalai 1to5

e TET -Group
https://t.me/Padasalai TET

e PGTRB - Group
https://t.me/Padasalai PGTRB

e TNPSC - Group
https://t.me/Padasalai TNPSC
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C @ ich of the following is true?
3 Number of zeros of a polynomial < the degree of the polynomial
b) Number of zeros of a polynomial < the degree of the polynomial
c) The degree of the polynomial < Number of zeros of a polynomial
d) The degree of the polynomial < Number of zeros of a polynomial
, Part - Il (Marks 20)
Il. Answer any 10 questions: (Ques.No.28 is compulsory) 10x2=20
, 15, Define Power set.
V16. Represent (AnB)’ through Venn diagram.
V17, If P ={2,3,5,7,11} and Q = {1,3,5,11} then find the symmetric difference between the sets.
8. If n[P(A)] = 256, find n(A).
19, Out of 500 car owners investigated, 400 owned car A and 200 owned car B, 50 owned

both A and B cars. Is this data correct?

+/20. Convert 0.45 in the form of % (p,qeZ and q = 0)
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I, Choosa the correct answer: 14x1=14 \

; | BA thon n(AND) 18 | \
\ a) nA-D) \b) n(B) ¢) n(b - A) d) n(A) \
R 2 1A = {(x.y.2) then the number of non-emply subsols of A ig .
A a) 8 b) b 6) 6 'd{?' 2
R 31U = {x xcNand x <1 0}, A= (1,2,3,5,8) and B = (2,5,6,7 9}, then n((AwB)] is |
\ R h) 2 c) 4 d) 8 }
: 4. For any three sets P.Q and R, P-(QuR) 5 . | : i
N ) P(QUR) ) (PHQ)-R YWE.-quP-R d (P-Q)n(P-R) 1
\ COABB-A=__ , ! !
R a) AB “h) b ¢) A d) B \
N 6. Which of the following has a terminaling decimal expansion? \
E va) 9%, by Y c) s d) Yo ‘
§ 703441034 = ; i
\ \d) 0,687 b) 068 ¢) 0.68 d) 0687 ;
&‘ 8 If ¢80 k5, thenks= . t
\ a) 2 NN c) 8 d) 16 \
! 9. 1f Jov - Vo2 . then x = \
a2 Y o % g %
- C, @ IfN = ax 10" and 'n’is an irteger is ealled as scieniific potation, where a is {
: a) 1<a<10 W) 1<a<1d ¢) 1<a<10 d) 1<a=10 {
'; {1 i P@) =0, then 'x-a)isa_____ cf P{X) \
' a) divisor k) quotient c) reminder \6/) factor: §
i 12. (x +y) (X2 - xy + v?) is equzi o .
\ a) (x+y)’ b) (x-y)’ \()x:‘ +y? d) x-y’ \
N 13. GCD of any two prime numbers is , §
a) -1 b) 0 \51 . d) 2 N
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N20 Venty A (BOCY= (A1) (A CY using Venn disgrams
A0 R = 0 N Wand O = < 10) Qe (g xERn e ne W oand i< f) and
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\ ’:‘)_‘ EAPRRSS 10 selentiia notation 1) 0 (ERGHIDY 1) FRO088GH A1) i
! A3 Siplify (2 75 % 100 (a1 |
| ,,4 b the value of m (s 2 i acfactac of tha palynamial 250 - Gx¢ ¢ mx + 4 ‘
\ S0 Expand (da by
\ 26 Factonse 27x' + y
\ " .
‘ A7 Find the QCD xte v -
\ 28 Factonise ) 2x' -+ 1Hx . 27 iy 0 k¢ B!
\ Part < Il (Marks 60)
\ N Answer any 10 questions: (Quen.No.42 |6 compulaory) 105 % = 4t

PN R {2387 10100) thenveaty I (Q Ry« (10 Q) (1" R) .
VO NJ MU S X2 N 0L A S (X xE2pet a2 faped), B (x xsqed, e 2, o 1qed),
\.g.(‘ then Venty (A 1) = &' il 3

WA Letu s (012348 G A= {LALTY and = (0.2 36.7), find tha fallowing sels
CDAT B oA B WA I vy

N33 10 a colony. 275 families buy Tamil newspaper, 150 families buy [ nglish newspapef, 45
families buy Hindi newspaper, 125 families buy Tamil and English newspapers, 17 faritegs
buy Enghish and Hindi newspapara, 5 families buy Tamil and Hindi newspapers and 3
families buy all the thiee newspapers [f each family buy atleast one of thase newspapers
then find 1) Number of families buy only one nawspaper
i) Number of fanmilies buy atleast two newspapers
wy- Total number of familles in the colony.
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N34, Anange i asconding order Y2, 4. Y3
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Express 3(1024) < n its simplest fonm and find its oder. sadicand and coefficisit

2 Yair
Q\“@ Simplify- 53¢‘0- Cf"% 37320

2N
N o
\/57 Find the value of a and b if "*7'—*2 =avTl +b
\ »

V§E;. Find the area of square whose side length is 3m + 2n - 4¢.

39. It x4 x' =23 then find the value of X + - nnd X’ XF\

40. Find quotient and the remainder when l(x) is divided by g(x)
f(x) = (8x* - 6x° + 15x - 7), g(x) = 2x + 1

41 If the quotient obtained on dividing 3x' + 11x* + 34x + 106 by x =3 is 3x* + ax + b, then find
a.b and also the remainder.

42. Factorise: x' - 5x* - 2x+ 24
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Part - IV (Marks : 16)

T T T A T A T A e T L T T A e T

IV Answer both questions: ' 2x8=16
) Construct the \LMN such that LM =75cm, MN=5cmand LN =8 cm. l-omln its centroid.
(or)
‘:g) Construct \PQR whose sides are PQ = 6 cm, ..Q = 60° and QR =7 cm and locate its
orthocentre.
44_\,0’) Draw the graph fory = 3x - 1 (or)

b) Draw the graph for 3x + 2y = 14
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